Chapter 1
1. Interest rate, income, unemployment, growth, inflation, exchange rate, export and import etc. see at. http://evds.tcmb.gov.tr/anaweb/enflasyonTR.html
http://www.tcmb.gov.tr/kurlar/200711/05112007.html

 For more information see at. http://evds.tcmb.gov.tr/
2.  (Yes/No). Economics may be a science, but not a positivist (exact) science. Because, economic relations should be analyzed by means of interpretation, ideology or understanding, that is, analyzing economic activity required not only empiricism, mathematics or causality, but also history or sociology in large extent, because of uncertainty in objects (human) of economics. (Economics is called as an inexact science, see at. http://links.jstor.org/sici?sici=0031-8248(198109)48%3A3%3C363%3AJSMPOE%3E2.0.CO%3B2-5
and http://socialresearch.metapress.com/index/26VYWQBWCEB9EU3P.pdf
http://links.jstor.org/sici?sici=02708647(1988)1988%3C308%3ACPCACI%3E2.0.CO%3B2-O
http://links.jstor.org/sici?sici=08953309(198921)3%3A2%3C115%3AEMIAN%3E2.0.CO;2-P
http://www.econ.iastate.edu/tesfatsi/Macroeconomist_as_Scientist.Mankiw.pdf

and for a brief information http://plato.stanford.edu/entries/economics/
3.   Frozen yogurt and ice cream are substitutes. For that reason, if the price of frozen yogurt decreased, the quantity of ice cream decreased, price decreased also.


            Pyogurt 
Qyogurt  
        Qice cream    
Pice cream
 The price of yogurt is exogenous variable, because of the fact that it affected price of ice cream. And price of ice cream is endogenous variable. The value of it is determined by changes in price of yogurt, not exogenously like price of yogurt. 
4.  It is possible to say that the price of haircut does not change frequently. It is about 1 year. Market clearing model reflects that demand and supply adapt price changes immediately and they comes in equilibrium quickly. After a price change in haircut market, there is no structural in-equilibrium referring long run shortage or surplus in supply and demand. Thus, everyone may be cut his/her hair, though price change. 
Chapter 2
1. see at. http://www.mahfiegilmez.nom.tr/turkiye_ekonomisi_gozlem_tablosu.xls
2. 

                          Wheat                Flour                 Bread 

                           1000                  3000                   6000
      Value added 

                          1000      (3000-1000) =2000     (6000-3000) = 3000

(1)
(2)
(3)

GDP is sum of all value added. (1)+ (2) + (3) = 6000.
4.  
a) Government purchases

b)  Investment 

c) Net Export

d) Consumption

e) Investment
6.
a) nominal Gdp =  price of automobile in current year* number of automobiles produced in current year + price of bread in current year * number of bread produced in current year
                current year is 2000 
                  Nominal Gdp2000 = (50000*100) + (10*500000)=10000000
       Real Gdp= price of automobile in base year * number of automobiles produced in current year + price of bread in base year * number of bread produced in current year

base year is 2000


Real Gdp2000=50000*100) + (10*500000)=10000000
Price Deflator = Nominal Gdp /Real Gdp * 100
Price Deflator 2000 =10000000/10000000*100= 100

CPI= (Pcurrent*Qbase)  /  (Pbase*Qbase)      
CPI2000 = (100*50000+500000*10)/ (100*50000+500000*10) =1
         current year is 2010

                  Nominal Gdp2010 = (60000*120) + (20*400000) =15200000

           Real Gdp2010= (50000*120) + (10*400000) =10000000

Price Deflator 2010 =15200000/10000000*100= 152

CPI2010 = (100*60000+500000*20)/ (100*50000+500000*10) =1, 6
b) 

∆P= (Pt-Pt-1)/Pt-1*100    t= 2010 t-1 =2000

=152-100/100*100 =52   
 Prices increased % 52 from 2000 to 2010 or % 52 signs inflation with GDP deflator. Laspeyres(CPI) and Paasche (GDP deflator) indices overestimate and underestimate inflation respectively. 
c)  
CPI. Because it overstate or the CPI was considered an upper bound to a cost-of-living index in that the CPI did not reflect the changes in buying or consumption patterns that consumers would make to adjust to relative price changes.
7. 

             Year 1                      Year 2

Pred                1                                2
Pgreen             2                                1
Qred               10                              0

Qred                0                               10

a)
       CPI= (Pcurrent*Qbase)  /  (Pbase*Qbase)
       CPIyear1= ((1*10) + (2*0))/ ((1*10) + (2*0)) =1
        CPIyear2= ((2*10) + (1*0))/ ((1*10) + (2*0)) =2
          year 1 is base year.
      CPI increased from year 1 to year 2. (Consumer basket is fixed!!!!!!)
b) 
Nominal spending year1= ((1*10) + (2*0) =10
Nominal spending year2= ((2*0) + (1*10) = 10
Nominal spending is constant.    
c) 
Real spending year1= ((1*10) + (2*0) =10
Real spending year2= ((1*0) + (2*10) = 20
Real spending increased.
d)
GDP deflator year1= ((1*10) + (2*0) =10 /((1*10) + (2*0) =10* 100=100
GDP deflator year2= ((2*0) + (1*10) =10 /((1*0) + (2*10) = 20* 100= 50

GDP deflator decreased.    (Consumer basket is not fixed!!!!!!)
e)

According to CPI, cost of living increased, but cost of living decreased according toGDP (price decreased). 
Chapter 3

1. 

a)  
∏= TR-TC   ∏= p*q-W*L-r*K   ∆∏=∆TR-∆TC   ∆∏=p*MPL-W
 If productivity of farmers increase or MPL, profit or ∏ increased. So, demand of farmers or labor in agriculture increased, real wage increased also. 
real wage farmers
                      SL


MPL or DL

L

b)

W=MPL, Neoclassic wage theory measure the real wage with marginal product of labour (farmer). 
c)

real wage of barbers

                      SL


MPL or DL

L

Because productivity of barbers has remained constant, real wage did not change.  
d)

=MPL, Neoclassic wage theory measure the real wage with marginal product of labour (barber)
e)
Because the real wage of farmers is bigger than barbers, barbers move from haircut market to farming. And the farmers’ supply increased, and then real wage of farmers decreased. For barbers, it is opposite way. Consequently, real wage in both barbers and farmers will be equal.   
real wage farmers

                      SL


MPL or DL

L
real wage of barbers

                      SL

MPL or DL

L

f) relative price of haircuts and food will be equal. 
g) Farmers benefit from technological progress. ( Some of the barbers are farmers after mobilization, it is possible to say that some farmers may benefit from technological progress)

4. 

T= 100 c=0.6

a)

Public saving= T-G

If T rises by 100, T-G= 100-G or public saving increased by 100.
b)   
Private saving = Y-C-T
If T rises by 100, Y-(C0+c(Y-T)-T= Y-C0-cY+cT-T=Y- C0-cY+0.6*100-100= Y- C0-cY-40.

Therefore, private saving decreased by 40. 
c)

National saving = Public saving + Private Saving = Y-C-T+T-G=Y-C-G

If T rises by 100, Y-(C0+c(Y-T)-G= Y-C0-cY+cT-T=Y- C0-cY+0.6*100-G= C0-cY+60-G
Therefore, national saving increased by 60. 
d)

Y= C+I+G= Y-C-G=I=S

In Equilibrium, I must be equal S.

Both national saving and investment increased by 60

6.

a)

National Saving =Y-C-G=I=S

Y= 5000 C= 250+0.75(Y-T)  G=1000

5000-(250+0.75(5000-1000)-1000=4000-250-0.75*4000=3750-3000=750

Public Saving = T-G= 1000-1000=0

Private Saving = Y-C-T=   5000-(250+0.75(5000-1000)-1000= 750

b) 

I=S= 750 (National saving)

I=1000-50r

750=1000-50r

5=r

c)

G= 1250

National Saving =Y-C-G=I=S

Y= 5000 C= 250+0.75(Y-T)  G=1250

5000-(250+0.75(5000-1000)-1250=3750-250-0.75*4000=3500-3000=500

Public Saving = T-G= 1000-1250=-250

Private Saving = Y-C-T=   5000-(250+0.75(5000-1000)-1000= 750

d) 
I=S=500

500= 1000-50r

10=r

Appendix
1. Y(K,L)=AKaL1-a                          a=0.3

    MPL=(Y/(L= (1-a)AKaL-a                         

    MPK=(Y/(K= aAKa-1L1-a                          
     Labor share= MPL= (1-a)AKaL-a    = (1-a) Y/L= MPL/(Y/L=APL)=1-a= 1- 0.3= 0.7

    = labor share

     Capital share= MPK= aAKa-1L1-a   = (a) Y/K= MPK/(Y/K=APK)=a= 0.3= capital share               
    Total labour income = MPL*L=(1-a)AKaL-a (or (1-a) Y/L )*L=(1-a) Y
    Total capital income = MPK*K=( aAKa-1L1-a (or (a) Y/K )*k=(a) Y 
   a=0.3

    a) 

    Total labour income = MPL*L=(1-a)AKaL-a (or (1-a) Y/L )*L=(1-a) Y=0.7Y

    Total capital income = MPK*K=( aAKa-1L1-a (or (a) Y/K )*k=(a) Y =0.3Y

    b)

                L % 10    increase           Y %  7 increase,   ( 0.7 is (1-a) )

If Labour increase by  % 1, Y increase by %0.7. (1-a) show it. 
               W/P =  MPL= (1-a)AKaL-a    = (1-a) Y/L

For that reason, Labour increase, MPL or W/P decrease. 
    c)

                K % 10    increase           Y % 3 increase,   ( 0.3 is (a) )

If capital increase by % 1, Y increase by %0.3. (a) show it. 
               r =  MPK= aAKa-1L1-a   = (a) Y/K

For that reason, capital increase, MPL or W/P increase. 
d)

                         Y(K,L)=AKaL1-a                          

                      (n Y(K,L)= A((K)a((L1-a )       (multiply Y, L and K with  ()                 

    (n Y(K,L)= (a(1-aAKaL1-a                       

(n Y(K,L)= (a +1-aAKaL1-a                 

                      (n Y(K,L)= (1AKaL1-a             n=1                
Constant return to scale, n or a+ 1-a=1. Y(K,L)=AKaLb  If a+b equal to 1, it means constant return to scale. 
2.   
                           Y(K,L, H)=K1/3 L1/3 H1/3 

a) 

    MPL=(Y/(L= 1/3K1/3 L-2/3 H1/3= Y/3L
b)

                 MPH=(Y/(H= 1/3K1/3 L1/3 H-2/3=Y/3H
c)
         Labour income = MPL*L= Y/3L*L=Y/3   ( labour share 1/3)
         Human capital income = MPH*H= Y/3H*H=Y/3   ( human capital share 1/3)

Chapter 4

1. 

a) credit card = medium of exchange 

b) a painting by Rembrant = store of value

c)  a subway token = unit of account or medium of exchange

2. 
MV=PT

(M+(V= (P+(T

14 + 0 (constant) = (P+ 5

(P or ( (inflation)=9

inominal= ireal +(
11= ireal +9

ireal = 2

